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#9-2. Acceleration of a block with friction (slopeFrictionAcc)

A block of mass m = 8 kg is sliding up a sloped ground with sp e ground is at amapgle @ ‘ /

of @ = 30° from horizontal, the coefficient of friction between the Bteck and groupd is # = 0.25, and % S .h\ l
. _ 2 . - C
gravity g = 9.8 m/s“ acts vertically.

What is the acceleration a of the block?
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#9-2. Acceleration of a block with friction (slopeFrictionAcc)

A block of mass m = 8 kg is sliding down a sloped ground with speed v = 5 m/s. The ground is at an
angle of @ = 25° from horizontal, the coefficient of friction between the block and ground is u = 0.25,
and gravity g = 9.8 m/s? acts vertically.

What is the acceleration & of the block?

a= 1+ 7 m/s?
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#9-4. Minimum coefficient of friction on a slope (slopeFrictionMinCoeff)

A block of mass m = 9 kg starts at rest on a sloped ground. The ground is at an angle of & = 25° from
horizontal and gravity g = 9.8 m/s? acts vertically.

What is the minimum coefficient of friction y so that the block will not slide?
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#9-9. Motion of a block with friction (slopeFrictionStick)

A block of mass m = 3 kg starts at rest on a sloped ground. The ground is at an angle of @ = 30° from
horizontal, the coefficient of friction between the block and ground is # = 0.5, and gravity g = 9.8 m/s?

acts vertically.
— sthx,j
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What type of motion does the block experience?

) The block sticks and does not move.

") The block slips and accelerates down the slope.
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